RR2 441 2H1 6 BEIT
%4 6 BEIRBILEERRSE (NEERX) REER

E N
X4y YEAHEEK | BREEK HHEEHK BER
10, 634 A 7,663 A 2,971 A 72. 06 %
¥ H &R ESHE 4,370 A
% B OH AT R R 3, 264 A
FTEEREE 29 A
11, 942 A 8, 422 A 3, 520 A 70. 52 %
Y OH B EH 4,122 A
LS B R AT R R 4, 265 A
FTEEREE 35 A
=10 22,576 Al 16, 085 A 6, 491 A 71. 25 %
= 5
X4y YEAEREER | BREEK LR BRER
) 2 A 1A 1A 50. 00 %
= 1A 0 A 1A 0. 00 %
=18 3 A 1A 2 A 33. 33 %
& &t
X4y MBHEEEE | BREEK EHEEK BrEg
5 10, 636 A 7, 664 A 2,972 A 72. 06 %
= 11,943 A 8, 422 A 3, 521 A 70. 52 %
=1 22,579 A 16, 086 A 6, 493 A 71. 24 %




R 244FE12H1 6 BEYT
%4 6 ERBEiEERESE (HIREK) BREER

E N
X4y YEAHEEK | BREEK HHEEHK BER
10, 634 A 7,663 A 2,971 A 72. 06 %
¥ H &R ESHE 4,370 A
% B OH AT R R 3, 264 A
FTEEREE 29 A
11, 942 A 8, 422 A 3, 520 A 70. 52 %
Y OH B EH 4,122 A
LS B R AT R R 4, 265 A
FTEEREE 35 A
=10 22,576 Al 16, 085 A 6, 491 A 71. 25 %
= 5
X4y YEAEREER | BREEK LR BRER
) 2 A 1A 1A 50. 00 %
= 1A 0 A 1A 0. 00 %
=18 3 A 1A 2 A 33. 33 %
& &t
X4y MBHEEEE | BREEK EHEEK BrEg
5 10, 636 A 7, 664 A 2,972 A 72. 06 %
= 11,943 A 8, 422 A 3, 521 A 70. 52 %
=1 22,579 A 16, 086 A 6, 493 A 71. 24 %




R 244FE12H1 6 BEYT
4 6 BRFBEEBENRZE(ERELE) REEGR

X4y MBHEEEE | BREEK HHEEHK BER
10, 634 A 7,376 A 3, 258 A 69. 36 %
¥ H &R ESHE 4, 365 A
% B OH AT R R 2,982 A
FTEEREE 29 A
11, 942 A 8, 165 A 3, 777 A 68. 37 %
Y OH B EH 4,122 A
LS B R AT R R 4, 008 A
FTEEREE 35 A
=10 22,576 Al 15, 541 A 7,035 A 68. 84 %
& Bt
X4y MBEHEER | BREEK EHEEK BER
bz, 10, 634 A 7,376 A 3, 258 A 69. 36 %
z 11, 942 Al 8, 165 A 3, 777 A 68. 37 %
=1 22,576 | 15, 541 A 7, 035 A 68. 84 %




